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N = 0 &8 AF & Y AN A
J0OEE EZ | 5| FARAYSEEH IRESA - (IS
SN DED
HH: DEAM %5 U SN (AL2LDE/HEDE - 2220/6)

Crol: ZmXAIE SHE(EAEAIY S5 ) CERL
S RO () - HISAIY - HA2 O] Ak ot J| = o HD=2
wEt 2,850,000 2,650,000 200,000

Al 409,000 409,000 0
- 2,441,000 2,241,000 200,000
DEAE 2= 2 SN2 (A22DS/HEDS - 222 1517705 1.473.205 44,500
JIEH)
Al 403,000 403,000 0
- 1,114,705 1,070,205 44 500
=AY ESE(=XNZTASELESH) 1,512,717 1,468,217 44 /500
Al 403,000 403,000 0
- 1,109,717 1,065,217 44 500
SALFEXNE XM 1,358,550 1,308,550 50,000
Al 400,000 400,000 0
- 958,550 908,550 50,000
401 AlEHIL 20| 1,358,550 1,308,550 50,000
Al 400,000 400,000 0
- 958,550 908,550 50,000
01 Al&H| 1,350,000 1,300,000 50,000
O OlSE9 BAFNE EA
950,000,000 * 14! 950,000 900,000 50,000
HE=EXNLRHF=XE 22 11,068 11,568 AB00
201 Et29H| 960 1,460 A500
01 AI22t2lb] 360 1,060 A700
O «bt=2H| 360 1,060 AT700
O HEXNSHFEXA A 360 1,060 AT700
SR Ol (R SR A 25 0 0 700 AT00
02 2224 4| 600 400 200
O 2222 2 HAl 600 400 200
O HEXNSMZIQS DAMLES oBaa
AE 250 x60021 *43) 600 400 200
A=A 22 135,035 140,035 A5,000
401 AlEHIZLE0HY] 122,915 127,915 A5,000
01 Al&H| 122,000 127,000 A5,000
O BATAE AlEE 4
28 5,000,000 x 1Al 5,000 10,000 A5,000
MEUNERS (=L NE/H=NE - 2E2SDIEH 714,403 721,345 NG,942
Al 6,000 6,000 0
- 708,403 715,345 NG, 942
SUEEI 0% U DSEBZ(ENTALSE S H) 613,228 620.920 A7.602
Al 6,000 6,000 0
- 607,228 614,920 NT,692
=ZHFAI} ©X 235,228 242,920 NT,692
201 LBt AH| 123,138 132,630 N9,492
01 AI22t2lb| 36,174 29,174 7,000
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SN EB -GS - MBAY - BES 0 & 24 p/E-T" HRE2
O Zet=EH| 28,964 21,964 7,000
O F=XAHENEE EEE iU M
70,000% 1004 7,000 0 7,000
02 =234l 86,964 103,456 A 16,492
O 232= % MA 56,800 73,292 N 16,492
O JU8 R8I AMEZ 30,000 «60H+9= 1,620 0 1,620
O 28 UXAN £E8 RERS 54,700 72,812 A18,112
R = 2 & 2503 +7,500A4 1,875 2,250 A375
SIRER Z2E 1,750&3 70021 1,225 2,450 AT,225
SoIGEDN 2HE
23 1,720 +2,50024 « 128 51,600 68,112 A 16,512
405 AHeHESHI 58,700 56,900 1,800
01 T =SS FH SHI 58,700 56,900 1,800
O FIXHES EFHE LTI 7L
300,000 *6CH 1,800 0 1,800
SEXNRCDEE F+ L HMEHU(FUHEALELS 101,175 100,425 750
)
AR E = 2 HEE 101,175 100,425 750
405 XtobE SHI 1,460 710 750
01 T =S H SHI 1,460 710 750
O 2MAMEI 2L 750,000 *1CH 750 0 750
MWRES (=L WS/HEUS - 283SIIEH 12,877 0 12,877
SBENE(=NHHEALESSIA) 12,877 0 12,877
ERSPNES 12,877 0 12,877
802 Etet=zJIEt 12,877 0 12,877
02 Al - SHIEXSEtE s 12,877 0 12,877
O AMEHEXSAMELN Btes 12,877,000 12,877 0 12,877
TH&2el (olglgl/aglgl) 173,267 23,702 149,565
GiHIH (X EASSLE AN 173,267 23,702 149,565
ol g1l 173,267 23,702 149,565
801 OllHIbl 173,267 23,702 149,565
01 olldldl 173,267 23,702 149,565
F=IHEALS olleld] Z2& 173,267,000& 173,267 23,702 149,565




